

FUZZY IMPLICATIVE *LI*-IDEALS IN LATTICE IMPLICATION ALGEBRAS

LEROY B. BEASLEY, GI-SANG CHEON, YOUNG BAE JUN* AND SEOK ZUN SONG

Received July 23, 2003

ABSTRACT. The fuzzification of an implicative *LI*-ideal is considered and some of their properties are investigated. Characterizations of a fuzzy implicative *LI*-ideal are established. Conditions for a fuzzy *LI*-ideal to be a fuzzy implicative *LI*-ideal are provided. Extension property of a fuzzy implicative *LI*-ideal is built.

1. INTRODUCTION

Non-classical logic has become a considerable formal tool for computer science and artificial intelligence to deal with fuzzy and/or uncertain information. In the field of many-valued logic, lattice-valued logic plays an important role for two aspects: Firstly, it extends the chain-type truth-value field of some well-known presented logic [1] (such as two-valued logic, three-valued logics introduced by Łukasiewicz, Bochvar, Kleene, Heyting, Finn, Hallden, Segerberg, Slupecki and Sobociński, n -valued logics introduced by Łukasiewicz, Post, Slupecki, Sobociński and Gödel, as well as the Łukasiewicz logic with truth value in the interval $[0, 1]$ or Zadeh's infinite-valued logic, etc.) to some relatively general lattices. Secondly, the incompletely comparable property of truth value characterized by general lattice can more efficiently reflect the uncertainty of people's thinking, judging and decision. Hence, lattice-valued logic is becoming a research field which strongly influences the development of Algebraic Logic, Computer Science and Artificial Intelligence Technology. In 1969, Goguen proposed the first lattice-valued logic formal system based on complete-lattice-ordered semi-groups [2], where the author did not provide a syntax associated with the given semantics. However, the concept of enriched residuated lattice introduced by Goguen provided a new idea and approach to study the lattice-valued logic. So, in 1979, Pavelka proposed a lattice-valued propositional logic system based on enriched residuated lattices [15]. Although this logic is based on relatively general lattice, its main results are limited to the interval $[0, 1]$ or the finite chain of truth value. In spite of such limitation, these results reflect some fundamental characteristics of fuzzy logic. Pavelka's work is concerned only with propositional fuzzy logic. In 1982, Novak extended it to first-order fuzzy logic based on the interval $[0, 1]$ or a finite chain [14], especially including some additional generalized quantifiers, and proved the soundness theorem and completeness theorem of this formal system. In order to establish a logic system with truth value in a relatively general lattice, in 1990, during the study of the project "The Study of Abstract Fuzzy Logic" granted by National Natural Science Foundation in China, Xu firstly established the lattice implication algebra by combining lattice and implication algebra, and investigated many useful structures

2000 *Mathematics Subject Classification.* 03G10, 03B05, 06B10, 04A72.

Key words and phrases. Lattice implication algebra, (fuzzy) implicative *LI*-ideal, implication homomorphism.

This work was supported by Korea Research Foundation Grant (KRF-2002-042-C00001).

*Corresponding author. Tel.: +82 55 751 5674; fax: +82 55 751 6117.

[11, 12, 16, 17, 18]. Lattice implication algebra provided the foundation to establish the corresponding logic system from the algebraic viewpoint. For the general development of lattice implication algebras, the ideal theory plays an important role as well as the filter theory. Xu and Qin [18] introduced the notions of filter and implicative filter in a lattice implication algebra, and investigated their properties. Jun (together with Xu, Qin, Kim and Roh) studied several filters in lattice implication algebras [3, 4, 5, 8, 10]. In particular, Jun [3] gave an equivalent condition of a filter, and provided some equivalent conditions for a filter to be an implicative filter in a lattice implication algebra. In [6], Jun et al. introduced the notion of *LI*-ideals in lattice implication algebras and investigated some of its properties. Also, Jun et al. [7, 9] considered the fuzzification of *LI*-ideals. In [13], Liu, Xu, Qin and Liu introduced the notion of *LLI*-ideals in lattice implication algebras. In this paper, we discuss the fuzzification of implicative *LI*-ideals in lattice implication algebras. We give five characterizations of a fuzzy implicative *LI*-ideal. We provide conditions for a fuzzy *LI*-ideal to be a fuzzy implicative *LI*-ideal. We build the extension property of a fuzzy implicative *LI*-ideal.

2. PRELIMINARIES

Definition 2.1. [16] A *lattice implication algebra* is defined to be a bounded lattice $(L; \vee, \wedge, 0, 1)$ with order-reversing involution “ $'$ ” and a binary operation “ \rightarrow ” satisfying the following axioms:

- (I1) $x \rightarrow (y \rightarrow z) = y \rightarrow (x \rightarrow z)$,
- (I2) $x \rightarrow x = 1$,
- (I3) $x \rightarrow y = y' \rightarrow x'$,
- (I4) $x \rightarrow y = y \rightarrow x = 1 \Rightarrow x = y$,
- (I5) $(x \rightarrow y) \rightarrow y = (y \rightarrow x) \rightarrow x$,
- (L1) $(x \vee y) \rightarrow z = (x \rightarrow z) \wedge (y \rightarrow z)$,
- (L2) $(x \wedge y) \rightarrow z = (x \rightarrow z) \vee (y \rightarrow z)$,

for all $x, y, z \in L$.

A lattice implication algebra L is called a *lattice H -implication algebra* if it satisfies $x \vee y \vee ((x \wedge y) \rightarrow z) = 1$ for all $x, y, z \in L$. We can define a partial ordering \leq on a lattice implication algebra L by $x \leq y$ if and only if $x \rightarrow y = 1$. In a lattice implication algebra L , the following hold (see [16]):

- (p1) $0 \rightarrow x = 1, 1 \rightarrow x = x$ and $x \rightarrow 1 = 1$.
- (p2) $x \rightarrow y \leq (y \rightarrow z) \rightarrow (x \rightarrow z)$.
- (p3) $x \leq y$ implies $y \rightarrow z \leq x \rightarrow z$ and $z \rightarrow x \leq z \rightarrow y$.
- (p4) $x' = x \rightarrow 0$.
- (p5) $x \vee y = (x \rightarrow y) \rightarrow y$.
- (p6) $((y \rightarrow x) \rightarrow y')' = x \wedge y = ((x \rightarrow y) \rightarrow x')$.
- (p7) $x \leq (x \rightarrow y) \rightarrow y$.
- (p8) $((x \rightarrow y) \rightarrow y) \rightarrow y = x \rightarrow y$.

In a lattice implication algebra L , the following are equivalent.

- (q1) $x \rightarrow (x \rightarrow y) = x \rightarrow y$.
- (q2) $x \rightarrow (y \rightarrow z) = (x \rightarrow y) \rightarrow (x \rightarrow z)$.
- (q3) $x \rightarrow (y \rightarrow z) = (x \wedge y) \rightarrow z$.
- (q4) $(x \rightarrow y) \rightarrow x = x$.
- (q5) L is a lattice *H*-implication algebra.

Definition 2.2. [6] A subset A of a lattice implication algebra L is called an *LI-ideal* of L if it satisfies

- (Id1) $0 \in A$,
 (Id2) $\forall x, y \in L, (x \rightarrow y)' \in A, y \in A \Rightarrow x \in A$.

Proposition 2.3. [6] *Let A be an LI -ideal of a lattice implication algebra L and let $x, y \in L$. If $y \leq x$ and $x \in A$, then $y \in A$.*

Proposition 2.4. [13, Theorem 2.5] *Let I be a nonempty subset of a lattice implication algebra L . Then I is an LI -ideal of L if and only if it satisfies*

$$\forall x, y \in I, \forall z \in L, (z \rightarrow x)' \leq y \Rightarrow z \in I.$$

Definition 2.5. [7] A fuzzy set \bar{A} in a lattice implication algebra L is called a *fuzzy LI -ideal* of L if it satisfies

- (F1) $\bar{A}(0) \geq \bar{A}(x), \forall x \in L$.
 (F2) $\bar{A}(x) \geq \min\{\bar{A}((x \rightarrow y)'), \bar{A}(y)\}, \forall x, y \in L$.

Note that every fuzzy LI -ideal is order reversing (see [7, Proposition 3.4]). Let L and M be lattice implication algebras. A mapping $f: L \rightarrow M$ is called an *implication homomorphism* if $f(x \rightarrow y) = f(x) \rightarrow f(y)$ for all $x, y \in L$.

Let f be a mapping from a set L to a set M and let \bar{A} and \bar{B} be fuzzy sets in L and M , respectively. Then $f(\bar{A})$, the *image* of \bar{A} under f , is a fuzzy set in M :

$$f(\bar{A})(y) := \begin{cases} \sup_{x \in f^{-1}(y)} \bar{A}(x) & \text{if } f^{-1}(y) \neq \emptyset, \\ 0 & \text{if } f^{-1}(y) = \emptyset, \end{cases}$$

for all $y \in M$. The *preimage* of \bar{B} under f , $f^{-1}(\bar{B})$, is a fuzzy set in L given by $f^{-1}(\bar{B})(x) = \bar{B}(f(x))$ for all $x \in L$. A fuzzy set \bar{A} in L has *sup property* if for every subset T of L there exists $x_0 \in T$ such that $\bar{A}(x_0) = \sup_{u \in T} \bar{A}(u)$.

3. FUZZY IMPLICATIVE LI -IDEALS

In what follows, let L denote a lattice implication algebra unless otherwise specified. We first give a characterization of a fuzzy LI -ideal.

Theorem 3.1. *A fuzzy set \bar{A} in L is a fuzzy LI -ideal of L if and only if it satisfies*

$$\forall x, y, z \in L, (z \rightarrow x)' \leq y \Rightarrow \bar{A}(z) \geq \min\{\bar{A}(x), \bar{A}(y)\}.$$

Proof. Suppose that \bar{A} is a fuzzy LI -ideal of L . Let $x, y, z \in L$ be such that $(z \rightarrow x)' \leq y$. Since every fuzzy LI -ideal is order reversing, it follows that $\bar{A}((z \rightarrow x)') \geq \bar{A}(y)$ so from (F2) that

$$\bar{A}(z) \geq \min\{\bar{A}((z \rightarrow x)'), \bar{A}(x)\} \geq \min\{\bar{A}(x), \bar{A}(y)\}.$$

Conversely, suppose that \bar{A} satisfies the given condition. Since $(0 \rightarrow x)' \leq x$ for all $x \in L$, we have $\bar{A}(0) \geq \bar{A}(x)$ for all $x \in L$, which is (F1). Note that $(x \rightarrow y)' \leq (x \rightarrow y)'$ for all $x, y \in L$. Hence, by assumption, we get

$$\bar{A}(x) \geq \min\{\bar{A}(y), \bar{A}((x \rightarrow y)')\}$$

which is (F2). Hence \bar{A} is a fuzzy LI -ideal of L . \square

Definition 3.2. [13] A nonempty subset A of L is called an *implicative LI -ideal* of L if it satisfies (Id1) and

- (Id3) $\forall x, y, z \in L, (((x \rightarrow y)' \rightarrow y)' \rightarrow z)' \in A, z \in A \Rightarrow (x \rightarrow y)' \in A$.

Proposition 3.3. [13, Theorems 3.8 and 3.12] *Let I be an LI -ideal of L . Then the following are equivalent.*

- (i) I is an implicative LI -ideal of L .
- (ii) $\forall x, y \in L, (x \rightarrow (y \rightarrow x)')' \in I \Rightarrow x \in I$.
- (iii) $\forall x, y \in L, ((x \rightarrow y)' \rightarrow y)' \in I \Rightarrow (x \rightarrow y)' \in I$.

Definition 3.4. A fuzzy set \bar{A} in L is called a *fuzzy implicative LI -ideal* of L if it satisfies (F1) and

$$(F3) \quad \bar{A}((x \rightarrow y)') \geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z)'), \bar{A}(z)\}, \quad \forall x, y, z \in L.$$

Example 3.5. Let $L = \{0, a, b, 1\}$ be a set with Cayley tables as follows:

x	x'	\rightarrow	0	a	b	1
0	1	0	1	1	1	1
a	b	a	b	1	b	1
b	a	b	a	a	1	1
1	0	1	0	a	b	1

Define \vee - and \wedge -operations on L as follows:

$$x \vee y := (x \rightarrow y) \rightarrow y, \quad x \wedge y := ((x' \rightarrow y') \rightarrow y)'$$

for all $x, y \in L$. Then $(L, \vee, \wedge, \rightarrow, ')$ is a lattice implication algebra (see [13]). Let \bar{A} be a fuzzy set in L defined by $\bar{A}(0) = 0.7$ and $\bar{A}(a) = \bar{A}(b) = \bar{A}(1) = 0.3$. Then \bar{A} is a fuzzy implicative LI -ideal of L . Also a fuzzy set \bar{B} in L given by $\bar{B}(0) = \bar{B}(a) = 0.6$ and $\bar{B}(b) = \bar{B}(1) = 0.2$ is a fuzzy implicative LI -ideal of L .

We give the relation between fuzzy LI -ideals and fuzzy implicative LI -ideals.

Theorem 3.6. *Any fuzzy implicative LI -ideal of L is a fuzzy LI -ideal of L .*

Proof. Let \bar{A} be a fuzzy implicative LI -ideal of L . Taking $y = 0$ and $z = y$ in (F3), we have

$$\begin{aligned} \bar{A}(x) &= \bar{A}((x \rightarrow 0)') \\ &\geq \min\{\bar{A}(((x \rightarrow 0)' \rightarrow 0)' \rightarrow y)'), \bar{A}(y)\} \\ &= \min\{\bar{A}((x \rightarrow y)'), \bar{A}(y)\}. \end{aligned}$$

Hence \bar{A} is a fuzzy LI -ideal of L . □

The converse of Theorem 3.6 may not be true as seen in the following example.

Example 3.7. Let $L = \{0, a, b, 1\}$ be a set with Cayley tables as follows:

x	x'	\rightarrow	0	a	b	1
0	1	0	1	1	1	1
a	b	a	b	1	1	1
b	a	b	a	b	1	1
1	0	1	0	a	b	1

Define \vee - and \wedge -operations on L as follows:

$$x \vee y := (x \rightarrow y) \rightarrow y, \quad x \wedge y := ((x' \rightarrow y') \rightarrow y)'$$

for all $x, y \in L$. Then $(L, \vee, \wedge, \rightarrow, ')$ is a lattice implication algebra (see [13]). Let \bar{A} be a fuzzy set in L defined by $\bar{A}(0) = 0.8$ and $\bar{A}(a) = \bar{A}(b) = \bar{A}(1) = 0.08$. Then \bar{A} is a fuzzy LI -ideal of L . But it is not a fuzzy implicative LI -ideal of L because

$$\bar{A}((b \rightarrow a)') \not\geq \min\{\bar{A}(((b \rightarrow a)' \rightarrow a)' \rightarrow 0)'), \bar{A}(0)\}.$$

If we strengthen the condition(s) of L , then we have the following theorem.

Theorem 3.8. *If L is a lattice H -implication algebra, then every fuzzy LI -ideal is a fuzzy implicative LI -ideal.*

Proof. Let \bar{A} be a fuzzy LI -ideal of a lattice H -implication algebra L . Using (I3), (q1), and (F2), we have

$$\begin{aligned}\bar{A}((x \rightarrow y)') &= \bar{A}((y' \rightarrow x')') = \bar{A}((y' \rightarrow (y' \rightarrow x'))') \\ &= \bar{A}((y' \rightarrow (x \rightarrow y))') = \bar{A}(((x \rightarrow y)' \rightarrow y)') \\ &\geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z)', \bar{A}(z)\}\end{aligned}$$

for all $x, y, z \in L$, which proves (F3). Hence \bar{A} is a fuzzy implicative LI -ideal of L . \square

Proposition 3.9. *Let \bar{A} be a fuzzy set in L satisfying (F1) and (F4) $\bar{A}(((x \rightarrow z)' \rightarrow (y \rightarrow z)'))' \geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow z)' \rightarrow u)'), \bar{A}(u)\}$ for all $x, y, z, u \in L$. Then \bar{A} is a fuzzy implicative LI -ideal of L .*

Proof. For any $x, y, z \in L$, we have

$$\begin{aligned}\bar{A}((x \rightarrow y)') &= \bar{A}((1 \rightarrow (x \rightarrow y))') \quad \text{by (p1)} \\ &= \bar{A}((0' \rightarrow (x \rightarrow y))') \quad \text{by (I2) and (p4)} \\ &= \bar{A}(((x \rightarrow y)' \rightarrow 0)') \quad \text{by (I3)} \\ &= \bar{A}(((x \rightarrow y)' \rightarrow 1')') \quad \text{by (p1) and (p4)} \\ &= \bar{A}(((x \rightarrow y)' \rightarrow (y \rightarrow y)')') \quad \text{by (I2)} \\ &\geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z)'), \bar{A}(z)\} \quad \text{by (F4)}\end{aligned}$$

which proves (F3). Hence \bar{A} is a fuzzy implicative LI -ideal of L . \square

Proposition 3.10. *Let \bar{A} be a fuzzy LI -ideal of L satisfying (F5) $\bar{A}(((x \rightarrow z)' \rightarrow (y \rightarrow z)'))' \geq \bar{A}(((x \rightarrow y)' \rightarrow z)')$ for all $x, y, z \in L$. Then \bar{A} is a fuzzy implicative LI -ideal of L .*

Proof. Let $x, y, z, u \in L$. Using (F5) and (F2), we have

$$\begin{aligned}\bar{A}(((x \rightarrow z)' \rightarrow (y \rightarrow z)'))' &\geq \bar{A}(((x \rightarrow y)' \rightarrow z)') \\ &\geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow z)' \rightarrow u)'), \bar{A}(u)\}.\end{aligned}$$

It follows from Proposition 3.9 that \bar{A} is a fuzzy implicative LI -ideal of L . \square

Proposition 3.11. *Let \bar{A} be a fuzzy LI -ideal of L satisfying (F6) $\bar{A}((x \rightarrow y)') \geq \bar{A}(((x \rightarrow y)' \rightarrow y)')$ for all $x, y \in L$. Then \bar{A} is a fuzzy implicative LI -ideal of L .*

Proof. For any $x, y, z \in L$, we get

$$\begin{aligned}\bar{A}((x \rightarrow y)') &\geq \bar{A}(((x \rightarrow y)' \rightarrow y)') \\ &\geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z)'), \bar{A}(z)\}, \quad \text{by (F2)}\end{aligned}$$

and so \bar{A} is a fuzzy implicative LI -ideal of L . \square

Proposition 3.12. *Every fuzzy implicative LI -ideal \bar{A} of L satisfies the inequality (F6).*

Proof. For any $x, y \in L$, we obtain

$$\begin{aligned}\bar{A}((x \rightarrow y)') &\geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow 0)'), \bar{A}(0)\} \\ &= \bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow 0)') \\ &= \bar{A}((0' \rightarrow ((x \rightarrow y)' \rightarrow y)'))' \\ &= \bar{A}(((x \rightarrow y)' \rightarrow y)'),\end{aligned}$$

completing the proof. \square

Combining Propositions above, we give a characterization of a fuzzy implicative LI -ideal.

Theorem 3.13. *Let \bar{A} be a fuzzy LI -ideal of L . Then the following statements are equivalent.*

- (i) \bar{A} is a fuzzy implicative LI -ideal of L .
- (ii) \bar{A} satisfies (F4).
- (iii) \bar{A} satisfies (F5).
- (iv) \bar{A} satisfies (F6).

Theorem 3.14. *Let \bar{A} be a fuzzy LI -ideal of L . Then the following are equivalent.*

- (i) \bar{A} is a fuzzy implicative LI -ideal of L .
- (ii) $\bar{A}(x) \geq \bar{A}((x \rightarrow (y \rightarrow x)')')$, $\forall x, y \in L$.
- (iii) $\bar{A}(x) \geq \min\{\bar{A}(((x \rightarrow (y \rightarrow x)')' \rightarrow z)'), \bar{A}(z)\}$, $\forall x, y, z \in L$.

Proof. (i) \Rightarrow (ii). Suppose that \bar{A} is a fuzzy implicative LI -ideal of L and let $x, y, z \in L$. Note that

$$\begin{aligned}
& ((y \rightarrow (y \rightarrow x)')' \rightarrow (y \rightarrow x)')' \rightarrow (x \rightarrow (y \rightarrow x)')' \\
&= (x \rightarrow (y \rightarrow x)') \rightarrow ((y \rightarrow (y \rightarrow x)')' \rightarrow (y \rightarrow x)') \quad \text{by (I3)} \\
&\geq (y \rightarrow (y \rightarrow x)')' \rightarrow x \quad \text{by (p2)} \\
&= x' \rightarrow (y \rightarrow (y \rightarrow x)') \quad \text{by (I3)} \\
&= x' \rightarrow ((y \rightarrow x) \rightarrow y') \quad \text{by (I3)} \\
&= (y \rightarrow x) \rightarrow (x' \rightarrow y') \quad \text{by (I1)} \\
&= (y \rightarrow x) \rightarrow (y \rightarrow x) = 1. \quad \text{by (I3) and (I2)}
\end{aligned}$$

Since $x \leq 1$ for all $x \in L$, it follows from (I4) that

$$((y \rightarrow (y \rightarrow x)')' \rightarrow (y \rightarrow x)')' \rightarrow (x \rightarrow (y \rightarrow x)')' = 1,$$

i.e., $((y \rightarrow (y \rightarrow x)')' \rightarrow (y \rightarrow x)')' \leq (x \rightarrow (y \rightarrow x)')'$. Since every fuzzy LI -ideal is order reversing, we have

$$\begin{aligned}
\bar{A}((x \rightarrow (y \rightarrow x)')') &\leq \bar{A}(((y \rightarrow (y \rightarrow x)')' \rightarrow (y \rightarrow x)')') \\
&\leq \bar{A}((y \rightarrow (y \rightarrow x)')'). \quad \text{by Proposition 3.12}
\end{aligned}$$

Note that

$$\begin{aligned}
(x \rightarrow (y \rightarrow (y \rightarrow x)')')' &= (x \rightarrow ((y \rightarrow x) \rightarrow y')')' \quad \text{by (I3)} \\
&= (x \rightarrow ((x' \rightarrow y') \rightarrow y')')' \quad \text{by (I3)} \\
&= (((x' \rightarrow y') \rightarrow y') \rightarrow x')' \quad \text{by (I3)} \\
&= (((y' \rightarrow x') \rightarrow x') \rightarrow x')' \quad \text{by (I5)} \\
&= (y' \rightarrow x')' \quad \text{by (p8)} \\
&= (x \rightarrow y)' \quad \text{by (I3)}
\end{aligned}$$

and

$$\begin{aligned}
& (x \rightarrow y)' \rightarrow (x \rightarrow (y \rightarrow x)')' \\
&= (x \rightarrow (y \rightarrow x)') \rightarrow (x \rightarrow y) \quad \text{by (I3)} \\
&\geq (y \rightarrow x)' \rightarrow y \quad \text{by (I1) and (p2)} \\
&= y' \rightarrow (y \rightarrow x) \quad \text{by (I3)} \\
&= (y \rightarrow 0) \rightarrow (y \rightarrow x) \quad \text{by (p4)} \\
&\geq 0 \rightarrow x = 1. \quad \text{by (I1), (p2) and (p1)}
\end{aligned}$$

Hence $(x \rightarrow y)' \rightarrow (x \rightarrow (y \rightarrow x)')' = 1$, i.e., $(x \rightarrow y)' \leq (x \rightarrow (y \rightarrow x)')'$, and so

$$\bar{A}((x \rightarrow (y \rightarrow x)')') \leq \bar{A}((x \rightarrow y)') = \bar{A}((x \rightarrow (y \rightarrow (y \rightarrow x)')')').$$

It follows from (F2) that

$$\begin{aligned}
\bar{A}(x) &\geq \min\{\bar{A}((x \rightarrow (y \rightarrow (y \rightarrow x)')')'), \bar{A}((y \rightarrow (y \rightarrow x)')')\} \\
&\geq \bar{A}((x \rightarrow (y \rightarrow x)')'),
\end{aligned}$$

which proves (ii).

(ii) \Rightarrow (iii). It is straightforward by (F2).

(iii) \Rightarrow (i). Assume that \bar{A} satisfies the condition (iii) and let $x, y \in L$. Taking $z = 0$ in (iii) and using (F1) and (p4), we get

$$\begin{aligned}
(1) \quad \bar{A}(x) &\geq \min\{\bar{A}(((x \rightarrow (y \rightarrow x)')' \rightarrow 0)'), \bar{A}(0)\} \\
&= \bar{A}(((x \rightarrow (y \rightarrow x)')' \rightarrow 0)') \\
&= \bar{A}((((x \rightarrow (y \rightarrow x)')')')') \\
&= \bar{A}((x \rightarrow (y \rightarrow x)')').
\end{aligned}$$

Note that

$$\begin{aligned}
& ((x \rightarrow y)' \rightarrow (x \rightarrow (x \rightarrow y)')')' \\
&= ((x \rightarrow (x \rightarrow y)') \rightarrow (x \rightarrow y))' \quad \text{by (I3)} \\
&= (((x \rightarrow y) \rightarrow x') \rightarrow (y' \rightarrow x'))' \quad \text{by (I3)} \\
&= (y' \rightarrow (((x \rightarrow y) \rightarrow x') \rightarrow x'))' \quad \text{by (I1)} \\
&= (y' \rightarrow ((x' \rightarrow (x \rightarrow y)) \rightarrow (x \rightarrow y)))' \quad \text{by (I5)} \\
&= (y' \rightarrow ((x' \rightarrow (y' \rightarrow x')) \rightarrow (y' \rightarrow x')))' \quad \text{by (I3)} \\
&= ((x' \rightarrow (y' \rightarrow x')) \rightarrow (y' \rightarrow (y' \rightarrow x')))' \quad \text{by (I1)} \\
&= ((y' \rightarrow (x' \rightarrow x')) \rightarrow (y' \rightarrow (y' \rightarrow x')))' \quad \text{by (I1)} \\
&= ((y' \rightarrow 1) \rightarrow (y' \rightarrow (y' \rightarrow x')))' \quad \text{by (I2)} \\
&= (y' \rightarrow (y' \rightarrow x'))' \quad \text{by (p1)} \\
&= ((x \rightarrow y)' \rightarrow y)'. \quad \text{by (I3)}
\end{aligned}$$

Using (1), we have

$$\bar{A}((x \rightarrow y)') \geq \bar{A}(((x \rightarrow y)' \rightarrow (x \rightarrow (x \rightarrow y)')')') = \bar{A}(((x \rightarrow y)' \rightarrow y)'),$$

and so \bar{A} is a fuzzy implicative LI -ideal of L by Proposition 3.11. This completes the proof. \square

For any fuzzy set \bar{A} in L , let us denote $U(\bar{A}; t)$, $t \in [0, 1]$, the level set of \bar{A} , that is, $U(\bar{A}; t) := \{x \in L \mid \bar{A}(x) \geq t\}$.

Lemma 3.15. [7, Proposition 3.10] *A fuzzy set \bar{A} in L is a fuzzy LI -ideal of L if and only if the nonempty level set $U(\bar{A}; t)$ of \bar{A} is an LI -ideal of L , where $t \in [0, 1]$.*

Theorem 3.16. *A fuzzy set \bar{A} in L is a fuzzy implicative LI -ideal of L if and only if the nonempty level set $U(\bar{A}; t)$ of \bar{A} is an implicative LI -ideal of L , where $t \in [0, 1]$.*

Proof. If \bar{A} is a fuzzy implicative LI -ideal of L , then it is a fuzzy LI -ideal of L (see Theorem 3.6). Hence $U(\bar{A}; t) (\neq \emptyset)$, $t \in [0, 1]$, is an LI -ideal of L by Lemma 3.15. Let $x, y \in L$ be such that $(x \rightarrow (y \rightarrow x)')' \in U(\bar{A}; t)$. Then, by Theorem 3.14(ii), we have $\bar{A}(x) \geq \bar{A}((x \rightarrow (y \rightarrow x)')') \geq t$, and so $x \in U(\bar{A}; t)$. Hence $U(\bar{A}; t)$ is an implicative LI -ideal of L by Proposition 3.3. Conversely, suppose that $U(\bar{A}; t)$, $t \in [0, 1]$, is a nonempty implicative LI -ideal of L . Then $U(\bar{A}; t)$ is a nonempty LI -ideal, and so \bar{A} is a fuzzy LI -ideal of L by Lemma 3.15. Now, assume that there exists $x_0, y_0 \in L$ such that $\bar{A}(x_0) \not\geq \bar{A}((x_0 \rightarrow (y_0 \rightarrow x_0)')')$. Taking

$$t_0 := \frac{1}{2}(\bar{A}(x_0) + \bar{A}((x_0 \rightarrow (y_0 \rightarrow x_0)')')),$$

we get $\bar{A}(x_0) < t_0 < \bar{A}((x_0 \rightarrow (y_0 \rightarrow x_0)')')$. Hence $(x_0 \rightarrow (y_0 \rightarrow x_0)')' \in U(\bar{A}; t_0)$ and $x_0 \notin U(\bar{A}; t_0)$. This is a contradiction. Therefore $\bar{A}(x) \geq \bar{A}((x \rightarrow (y \rightarrow x)')')$ for all $x, y \in L$. Using Theorem 3.14, we know that \bar{A} is a fuzzy implicative LI -ideal of L . \square

Lemma 3.17. [13, Theorem 3.9] *Let I and J be LI -ideals of L such that $I \subseteq J$. If I is an implicative LI -ideal of L , then so is J .*

Theorem 3.18. (Extension property for fuzzy implicative LI -ideals) *Let \bar{A} and \bar{B} be fuzzy LI -ideals of L such that $\bar{A} \subseteq \bar{B}$, that is, $\bar{A}(x) \leq \bar{B}(x)$ for all $x \in L$. If \bar{A} is a fuzzy implicative LI -ideal of L , then so is \bar{B} .*

Proof. Note that the inclusion $\bar{A} \subseteq \bar{B}$ implies that $U(\bar{A}; t) \subseteq U(\bar{B}; t)$ for every $t \in [0, 1]$. If \bar{A} is a fuzzy implicative LI -ideal of L , then $U(\bar{A}; t) (\neq \emptyset)$ is an implicative LI -ideal of L for $t \in [0, 1]$. Using Lemma 3.17, $U(\bar{B}; t) (\neq \emptyset)$ is an implicative LI -ideal of L for $t \in [0, 1]$. It follows from Theorem 3.16 that \bar{B} is a fuzzy implicative LI -ideal of L . \square

Theorem 3.19. *Let I be a subset of L . For a fixed element $e \in L$, let \bar{A}_e be a fuzzy set in L given by*

$$\bar{A}_e(x) := \begin{cases} t_1 & \text{if } (x \rightarrow e)' \in I, \\ t_2 & \text{otherwise,} \end{cases}$$

for all $x \in L$, where $t_1 > t_2$ in $[0, 1]$. If I is an implicative LI -ideal of L , then \bar{A}_e is a fuzzy LI -ideal of L .

Proof. Assume that I is an implicative LI -ideal of L . Since $(0 \rightarrow e)' = 1' = 0 \in I$, we get $\bar{A}_e(0) = t_1 \geq \bar{A}_e(x)$ for all $x \in L$. Let $x, y \in L$. If $((x \rightarrow y)' \rightarrow e)' \notin I$ or $(y \rightarrow e)' \notin I$, then $\bar{A}_e((x \rightarrow y)') = t_2$ or $\bar{A}_e(y) = t_2$. Hence

$$\bar{A}_e(x) \geq t_2 = \min\{\bar{A}_e((x \rightarrow y)'), \bar{A}_e(y)\}.$$

Assume that $((x \rightarrow y)' \rightarrow e)' \in I$ and $(y \rightarrow e)' \in I$. Note that

$$\begin{aligned} & ((x \rightarrow e)' \rightarrow e)' \rightarrow ((x \rightarrow y)' \rightarrow e)' \\ &= ((x \rightarrow y)' \rightarrow e) \rightarrow ((x \rightarrow e)' \rightarrow e) && \text{by (I3)} \\ &\geq (x \rightarrow e)' \rightarrow (x \rightarrow y)' && \text{by (p2)} \\ &= (x \rightarrow y) \rightarrow (x \rightarrow e) && \text{by (I3)} \\ &\geq y \rightarrow e && \text{by (I1) and (p2)} \end{aligned}$$

so that $((x \rightarrow e)' \rightarrow e)' \rightarrow ((x \rightarrow y)' \rightarrow e) \leq (y \rightarrow e)'$. It follows from Proposition 2.4 that $((x \rightarrow e)' \rightarrow e)' \in I$, and so $(x \rightarrow e)' \in I$ by Proposition 3.3. Therefore $\bar{A}_e(x) = t_1 = \min\{\bar{A}_e((x \rightarrow y)'), \bar{A}_e(y)\}$. Consequently, \bar{A}_e is a fuzzy LI -ideal of L . \square

Theorem 3.20. *For every LI -ideal I of L and every element e of L , if the fuzzy set \bar{A}_e which is given in Theorem 3.19 is a fuzzy LI -ideal of L , then I is an implicative LI -ideal of L .*

Proof. Suppose that for each $e \in L$, \bar{A}_e is a fuzzy LI -ideal of L . Assume that $((x \rightarrow y)' \rightarrow y)' \in I$ for all $x, y \in L$. Then $\bar{A}_y((x \rightarrow y)') = t_1$. Since $(y \rightarrow y)' = 1' = 0 \in I$, we get $\bar{A}_y(y) = t_1$. Using (F2), we have

$$\bar{A}_y(x) \geq \min\{\bar{A}_y((x \rightarrow y)'), \bar{A}_y(y)\} = t_1,$$

and so $\bar{A}_y(x) = t_1$ which shows that $(x \rightarrow y)' \in I$. Therefore I is an implicative LI -ideal of L by Proposition 3.3. \square

Theorem 3.21. *Let $f : L \rightarrow M$ be an onto implication homomorphism of lattice implication algebras such that $f(0) = 0$.*

- (i) *If \bar{A} is a fuzzy implicative LI -ideal of L with sup property, then $f(\bar{A})$ is a fuzzy implicative LI -ideal of M .*
- (ii) *If \bar{B} is a fuzzy implicative LI -ideal of M , then $f^{-1}(\bar{B})$ is a fuzzy implicative LI -ideal of L .*

Proof. (i) Note that $f(\bar{A})(0) = \sup_{z \in f^{-1}(0)} \bar{A}(z) = \bar{A}(0) \geq \bar{A}(x)$ for all $x \in L$. Moreover, we have $f(\bar{A})(a) = \sup_{x \in f^{-1}(a)} \bar{A}(x)$ for all $a \in M$. Thus $f(\bar{A})(0) \geq \sup_{x \in f^{-1}(a)} \bar{A}(x) = f(\bar{A})(a)$ for all $a \in M$. For any $a, b, c \in M$, let $x_0 \in f^{-1}(a)$, $y_0 \in f^{-1}(b)$, and $z_0 \in f^{-1}(c)$ be such that $\bar{A}((x_0 \rightarrow y_0)') = \sup_{u \in f^{-1}((a \rightarrow b)')} \bar{A}(u)$, $\bar{A}(z_0) = \sup_{v \in f^{-1}(c)} \bar{A}(v)$, and

$$\bar{A}((((x_0 \rightarrow y_0)' \rightarrow y_0)' \rightarrow z_0)') = \sup_{w \in f^{-1}((((a \rightarrow b)' \rightarrow b)' \rightarrow c)')} \bar{A}(w).$$

Then

$$\begin{aligned} f(\bar{A})((a \rightarrow b)') &= \sup_{u \in f^{-1}((a \rightarrow b)')} \bar{A}(u) = \bar{A}((x_0 \rightarrow y_0)') \\ &\geq \min\{\bar{A}((((x_0 \rightarrow y_0)' \rightarrow y_0)' \rightarrow z_0)'), \bar{A}(z_0)\} \\ &= \min\left\{\sup_{w \in f^{-1}((((a \rightarrow b)' \rightarrow b)' \rightarrow c)')} \bar{A}(w), \sup_{v \in f^{-1}(c)} \bar{A}(v)\right\} \\ &= \min\{f(\bar{A})((((a \rightarrow b)' \rightarrow b)' \rightarrow c)'), f(\bar{A})(c)\}. \end{aligned}$$

Hence $f(\bar{A})$ is a fuzzy implicative LI -ideal of L .

(ii) Note that $f^{-1}(\bar{B})(0) = \bar{B}(f(0)) = \bar{B}(0) \geq \bar{B}(x)$ for all $x \in M$. Since f is onto, there exists $u_x \in L$ such that $f(u_x) = x$. Hence

$$f^{-1}(\bar{B})(0) \geq \bar{B}(x) = \bar{B}(f(u_x)) = f^{-1}(\bar{B})(u_x).$$

Since x is arbitrary, we know that $f^{-1}(\bar{B})(0) \geq f^{-1}(\bar{B})(y)$ for all $y \in L$. Now for any $x, y \in L$, we have

$$\begin{aligned}
& \min\{f^{-1}(\bar{B})((x \rightarrow y)'), f^{-1}(\bar{B})(y)\} \\
&= \min\{\bar{B}(f((x \rightarrow y)'), \bar{B}(f(y)))\} \\
&= \min\{\bar{B}(f((x \rightarrow y) \rightarrow 0)), \bar{B}(f(y))\} \\
&= \min\{\bar{B}(f(x \rightarrow y) \rightarrow f(0)), \bar{B}(f(y))\} \\
&= \min\{\bar{B}((f(x) \rightarrow f(y)) \rightarrow 0), \bar{B}(f(y))\} \\
&= \min\{\bar{B}((f(x) \rightarrow f(y))'), \bar{B}(f(y))\} \\
&\leq \bar{B}(f(x)) = f^{-1}(\bar{B})(x),
\end{aligned}$$

and

$$\begin{aligned}
& f^{-1}(\bar{B})((x \rightarrow y)') = \bar{B}(f((x \rightarrow y)')) = \bar{B}((f(x) \rightarrow f(y))') \\
&\geq \bar{B}(((f(x) \rightarrow f(y))' \rightarrow f(y))') = \bar{B}(((f(x \rightarrow y))' \rightarrow f(y))') \\
&= \bar{B}((f((x \rightarrow y)') \rightarrow f(y))') = \bar{B}((f((x \rightarrow y)' \rightarrow y))') \\
&= \bar{B}(f(((x \rightarrow y)' \rightarrow y)')) = f^{-1}(\bar{B})(((x \rightarrow y)' \rightarrow y)').
\end{aligned}$$

Hence $f^{-1}(\bar{B})$ is a fuzzy implicative LI -ideal of L . \square

Theorem 3.22. *Let \bar{A} be a fuzzy implicative LI -ideal of L with $\text{Im}(\bar{A}) = \{t_i \mid i \in \Lambda\}$, where $\emptyset \neq \Lambda \subset [0, 1]$. Let $\Omega := \{U(\bar{A}; t) \mid t \in \text{Im}(\bar{A})\}$. Then Ω contains all level implicative LI -ideals of \bar{A} if and only if \bar{A} attains its infimum on all implicative LI -ideals of L .*

Proof. Suppose that Ω contains all level implicative LI -ideals of \bar{A} . Let I be an implicative LI -ideal of L . If \bar{A} is constant on I , then we are done. Assume that \bar{A} is not constant on I . If $I = L$, we let $\beta := \inf \text{Im}(\bar{A})$. Then $\beta \leq t$ for all $t \in \text{Im}(\bar{A})$, and so $U(\bar{A}; t) \subseteq U(\bar{A}; \beta)$. But $U(\bar{A}; 0) = L \in \Omega$ because Ω contains all level implicative LI -ideals of \bar{A} . Hence there exists $\alpha \in \text{Im}(\bar{A})$ such that $U(\bar{A}; \alpha) = L$. It follows that $L = U(\bar{A}; \alpha) \subseteq U(\bar{A}; \beta)$ so that $U(\bar{A}; \beta) = U(\bar{A}; \alpha) = L$. Now it is sufficient to show that $\alpha = \beta$. If $\beta < \alpha$, then there exists $\gamma \in \text{Im}(\bar{A})$ such that $\beta \leq \gamma < \alpha$. Thus $U(\bar{A}; \gamma) \not\subseteq U(\bar{A}; \alpha) = L$, a contradiction. Therefore $\alpha = \beta$. If $I \subsetneq L$, then we consider the fuzzy set \bar{A}_I in L defined by

$$\bar{A}_I(x) := \begin{cases} \delta \in (0, 1] & \text{for } x \in I, \\ 0 & \text{otherwise.} \end{cases}$$

It is routine to check that \bar{A}_I is a fuzzy implicative LI -ideal of L . Let

$$\Gamma := \{i \in \Lambda \mid \bar{A}(y) = t_i \text{ for some } y \in I\}$$

and $\Omega_I := \{U(\bar{A}_I; t_i) \mid i \in \Gamma\}$. Noticing that Ω_I contains all level implicative LI -ideals, then there exists $x_0 \in I$ such that $\bar{A}(x_0) = \inf\{\bar{A}_I(x) \mid x \in I\}$, which implies that $\bar{A}(x_0) = \inf\{\bar{A}(x) \mid x \in I\}$. This proves that \bar{A} attains its infimum on all implicative LI -ideals of L . To prove the converse, let $U(\bar{A}; \alpha)$ be a level implicative LI -ideal of \bar{A} . If $\alpha = t$ for some $t \in \text{Im}(\bar{A})$, then clearly $U(\bar{A}; \alpha) \in \Omega$. If $\alpha \neq t$ for all $t \in \text{Im}(\bar{A})$, then there does not exist $x \in L$ such that $\bar{A}(x) = \alpha$. Let $I = \{x \in L \mid \bar{A}(x) > \alpha\}$. Obviously $0 \in I$. Let $x, y, z \in L$ be such that $((x \rightarrow y)' \rightarrow y)' \in I$ and $z \in I$. Then $\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z) > \alpha$ and $\bar{A}(z) > \alpha$. It follows from (F3) that

$$\bar{A}((x \rightarrow y)') \geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z), \bar{A}(z)\} > \alpha$$

so that $(x \rightarrow y)' \in I$. Hence I is an implicative LI -ideal of L . By hypothesis, there exists $y \in I$ such that $\bar{A}(y) = \inf\{\bar{A}(x) \mid x \in I\}$. But $\bar{A}(y) \in \text{Im}(\bar{A})$ implies $\bar{A}(y) = s$ for some $s \in \text{Im}(\bar{A})$. Hence

$$\inf\{\bar{A}(x) \mid x \in I\} = \bar{A}(y) = s > \alpha.$$

Note that there does not exist $z \in L$ such that $\alpha \leq \bar{A}(z) < s$, which gives $U(\bar{A}; \alpha) = U(\bar{A}; s) \in \Omega$. Therefore Ω contains all level implicative LI -ideals of \bar{A} . This completes the proof. \square

Theorem 3.23. *Let \bar{A} be a fuzzy set in L with $\text{Im}(\bar{A}) = \{t_0, t_1, \dots, t_n\}$, where $t_i < t_j$ whenever $i > j$. Let $\{I_k \mid k = 0, 1, \dots, n\}$ be a family of implicative LI -ideals of L such that*

- (i) $I_0 \subset I_1 \subset \dots \subset I_n = L$,
- (ii) $\bar{A}(I_k^*) = t_k$, where $I_k^* = I_k \setminus I_{k-1}$, $I_{-1} = \emptyset$ for $k = 0, 1, \dots, n$.

Then \bar{A} is a fuzzy implicative LI -ideal of L .

Proof. Since $0 \in I_0$, we have $\bar{A}(0) = t_0 \geq \bar{A}(x)$ for all $x \in L$. Let $x, y, z \in L$. If $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \in I_k^*$ and $z \in I_k^*$, then $(x \rightarrow y)' \in I_k$. Hence

$$\bar{A}((x \rightarrow y)') \geq t_k = \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z'), \bar{A}(z)\}.$$

If $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \notin I_k^*$ and $z \notin I_k^*$, then the following four cases arise:

- $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \in L \setminus I_k$ and $z \in L \setminus I_k$.
- $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \in I_{k-1}$ and $z \in I_{k-1}$.
- $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \in L \setminus I_k$ and $z \in I_{k-1}$.
- $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \in I_{k-1}$ and $z \in L \setminus I_k$.

But, in either case, we know that

$$\bar{A}((x \rightarrow y)') \geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z'), \bar{A}(z)\}.$$

If $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \in I_k^*$ and $z \notin I_k^*$, then either $z \in I_{k-1}$ or $z \in I_r$ for some $r > k$. It follows that either $(x \rightarrow y)' \in I_k$ or $(x \rightarrow y)' \in I_r$. Hence

$$\bar{A}((x \rightarrow y)') \geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z'), \bar{A}(z)\}.$$

If $((x \rightarrow y)' \rightarrow y)' \rightarrow z' \notin I_k^*$ and $z \in I_k^*$, then by similar process we have

$$\bar{A}((x \rightarrow y)') \geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z'), \bar{A}(z)\}.$$

Summarizing the above results, we obtain

$$\bar{A}((x \rightarrow y)') \geq \min\{\bar{A}(((x \rightarrow y)' \rightarrow y)' \rightarrow z'), \bar{A}(z)\}$$

for all $x, y, z \in L$. Hence \bar{A} is a fuzzy implicative LI -ideal of L . \square

REFERENCES

- [1] L. Bolc and P. Borowik, *Many-Valued Logic*, Springer, Berlin, 1994.
- [2] J. A. Goguen, *The logic of inexact concepts*, *Synthese* **19** (1969), 325–373.
- [3] Y. B. Jun, *Implicative filters of lattice implication algebras*, *Bull. Korean Math. Soc.* **34(2)** (1997), 193–198.
- [4] Y. B. Jun, *Fantastic filters of lattice implication algebras*, *Internat. J. Math. & Math. Sci.* **24(4)** (2000), 277–281.
- [5] Y. B. Jun, *On n -fold implicative filters of lattice implication algebras*, *Internat. J. Math. & Math. Sci.* **26(11)** (2001), 695–699.
- [6] Y. B. Jun, E. H. Roh and Y. Xu, *LI -ideals in lattice implication algebras*, *Bull. Korean Math. Soc.* **35(1)** (1998), 13–24.
- [7] Y. B. Jun and Y. Xu, *Fuzzy LI -ideals in lattice implication algebras*, *J. Fuzzy Math.* **7(4)** (1999), 997–1003.
- [8] Y. B. Jun, Y. Xu and K. Y. Qin, *Positive implicative and associative filters of lattice implication algebras*, *Bull. Korean Math. Soc.* **35(1)** (1998), 53–61.
- [9] Y. B. Jun, Y. Xu, K. Y. Qin and J. Liu, *Fuzzy LI -ideals in lattice implication algebras II*, *J. Fuzzy Math.* **8(2)** (2000), 273–282.
- [10] S. Y. Kim, E. H. Roh and Y. B. Jun, *On ultra filters of lattice implication algebras*, *Scientiae Mathematicae* **2(2)** (1999), 201–204.

- [11] J. Liu and Y. Xu, *On certain filters in lattice implication algebras*, Chinese Quarterly J. Math. **11(4)** (1996), 106–111.
- [12] J. Liu and Y. Xu, *Filters and structure of lattice implication algebras*, Chinese Science Bulletin **42(18)** (1997), 1517–1520.
- [13] Y. L. Liu, Y. Xu, K. Y. Qin and S. Y. Liu, *ILI-ideals and prime LI-ideals in lattice implication algebras*, Information Sciences (to appear).
- [14] V. Novak, *First order fuzzy logic*, Studia Logica **46(1)** (1982), 87–109.
- [15] J. Pavelka, *On fuzzy logic I, II, III*, Zeit. Math. Logik u. Grndl. Math. **25** (1979), 45–52, 119–134, 447–464.
- [16] Y. Xu, *Lattice implication algebras*, J. Southwest Jiaotong Univ. **1** (1993), 20–27.
- [17] Y. Xu and K. Y. Qin, *Lattice H-implication algebras and lattice implication algebra classes*, J. Hebei Mining and Civil Engineering Institute **2** (1992), 139–143.
- [18] Y. Xu and K. Y. Qin, *On filters of lattice implication algebras*, J. Fuzzy Math. **1(2)** (1993), 251–260.

L. BEASLEY, DEPARTMENT OF MATHEMATICS AND STATISTICS, UTAH STATE UNIVERSITY, LOGAN, UT 84322-3900, U.S.A.

E-mail address: `lbeasley@cc.usu.edu`

G. S. CHEON, DEPARTMENT OF MATHEMATICS, DAEJIN UNIVERSITY, KYUNGGI 487-711, KOREA

E-mail address: `gscheon@road.daejin.ac.kr`

Y. B. JUN, DEPARTMENT OF MATHEMATICS EDUCATION, GYEONGSANG NATIONAL UNIVERSITY, CHINJU (JINJU) 660-701, KOREA

E-mail address: `ybjun@nongae.gsnu.ac.kr`

S. Z. SONG, DEPARTMENT OF MATHEMATICS, CHEJU NATIONAL UNIVERSITY, CHEJU 690-756, KOREA

E-mail address: `szsong@cheju.ac.kr`